
Horodateur Nom et Prénom Réponse
09/12/2019 00:00:02 Soumeiya Bentabet 70
09/12/2019 00:00:03 Camus Naya 25

09/12/2019 00:01:56 Matys Da cruz
Réponse 25 
5+2x10=25

09/12/2019 06:23:29 Jeff Legrand 17
09/12/2019 07:10:32 GermesTom 25
09/12/2019 07:41:34 Deniz Sarikaya La réponse est 25 (le gobelet =10, le cheeseburger=5 et les frites=2 donc cheeseburger + frites x gobelets
09/12/2019 13:16:38 Agathe Lafont 17
09/12/2019 16:46:58 Manel LAKBAKBI 15
09/12/2019 18:54:18 Imane majouti 25
09/12/2019 19:13:29 Mariana Sousa 17
09/12/2019 19:14:51 Mariana Sousa 25
10/12/2019 21:09:14 Matilde Melo 70


